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SREE NARAYANA GURU COLLEGE OF ENGINEERING &TECHNOLOGY

COMPUTER SCIENCE AND ENGINEERING
REMEDIAL CLASS TEST QUESTION PAPER

MULTIPLE CHOICE QUESTION — OOP CONCEPTS

. Which of the following is not an OOPS concept?

a. Encapsulation
b. Polymorphism
c. Exception
d. Abstraction

. Which feature of OOPS described the reusability of code?

Abstraction
Encapsulation

Polymorphism

Inheritance

»w N

. Which among the following feature is not in the general definition of OOPS?

a. Modularity

b. Efficient Code

c. Code reusability

d. Duplicate or Redundant Data

. Which feature of OOPS derives the class from another class?

a. Inheritance
Data hiding
Encapsulation
Polymorphism

~ e

. Which operator from the following can be used to illustrate the feature of

polymorphism?
a. Overloading <<
b. Overloading &&
¢. Overloading | |
d. dOverloading +=

. Which header file is required by the C++ programming language to use the OCPS

concept?
a. stdio.h
b. iostream.h
c. stdlib.h /
d. We can easily use the OOPS concepts in c++ programs without using any

/A A ‘header-file.



10.

m

Which among the following cannot be used for the concept of polymorphism?
a. Static member function
b. Constructor Overloading
¢. Member function overloading
d. Global member function
Which member function is assumed to call first when there is a case of using function
overloading or abstract class?
a. Global function
b. Local function
c. Function with lowest priority
d. Function with the highest priority
Which among the following is not a member of the class?
a. Virtual function
b. const function
¢. Static function
d. Friend function
Which member of the superclass is never accessible to the subclass?
a. Public member
b. Protected member
c. Private member
d. All of the mentioned

ANSWER KEY
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MULTIPLE CHOICE QUESTION — JAVA PROGRAMS

1. Who invented Java Programming?
a. Guido van Rossum
b. James Gosling
<. Dennis Ritchie
d. Bjarne Stroustrup

a o =
e

i ' : x ENAAYV
2. Which statement is true about Java? DrP.ﬁIEN ity
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a. Java is a sequence-dependent programming language
b. Javais a code dependent programming language

c. Javais a platform-dependent programming language
d. Javais a platform-independent programming language

. Which component is used to compile, debug and execute the java programs?
a. JRE

b. JIT
¢. JDK
d JVM

. Which of these cannot be used for a variable name in Java?

a. identifier & keyword
b. identifier

c. keyword

d. none of the mentioned

. What will be the output of the following Java code?

class increment

{

public static void main(String args[})
{

intg=3;

System.out.print(++g * 8);

}

H
32

33
24
25

L~

. What will be the output of the following Java program?

class output {
public static void main(String args{])

{
double a, b,c; -
a=3.0/0; D i
b=0/4.0; —
e Dr. LEENAAV
System.out.printin(a); g g
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System.out.println(b);
System.out.printin(c);

}

}

a. NaN
b. Infinity
c. 0.0

d. all of the mentioned

7. What is not the use of “this” keyword in Java?

a. Referring to the instance variable when a local variable has the same name

b. Passing itself to the method of the same class
c. Passing itself to another method
d. Calling another constructor in constructor chaining

8. What will be the output of the following Java program?

class variable_scope

{

public static void main(String args[])
{

int x;

Xx=35;

{

inty=6;

System.out.print(x + " " + y);

b

System.out.println(x +" " + y);
}

}

Compilation error
Runtime error
5656
565

a0 o

9. What will be the output of the following Java program?

class leftshift_operator

L
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public static void main(String args[])
{

byte x = Gfl;

int i;

byte y:

i=x<<

y = (byte) (x << 2);
System.out.print(i +" " + y);

}

0256
064
2560
640

What is the extension of compiied java ciasses?
Axt

Js

.class

java
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SREE NARAYANA GURU COLLEGE OF ENGINEERING & TECHNOLOGY
DEPART MENT OF COMPUTER SCIENCE AND ENGINEERING
CST 205 OBJECT ORIENTED PROGRAMMING USING JAVA

S3 CSE 2022-23 (BATCH 2021-25) ! q
REMEDIAL CLASS TEST QUESTION PAPER

30
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MULTIPLE CHOICE QUESTION — OOP CONCEPTS

. Which of the following is not an OOPS concept?

a. Encapsulation
b. Polymorphism
& Exception
d. Abstraction

. Which feature of OOPS described the reusability of code?

1. Abstraction
2. Encapsulation
3. Polymorphism
4/ Inheritance

. Which among the following feature is not in the general definition of OOPS?

a. Modularity

b. Efficient Code

c. Code reusability
& Duplicate or Redundant Data

. Which feature of OOPS derives the class from another class?

& Inheritance
b. Data hiding
c. Encapsulation
d. Polymorphism

. Which operator from the following can be used to illustrate the feature of
polymorphism?

A. Overloading <<
- b. Overloading &&
c. Overloading | |

d. dOverloading +=

. Which header file is required by the C++ programming language to use the OOPS

concept?

a. stdioh
b. iostream.h

c. stdlib.h
& We can easily use the OOPS concep n ct++ programs without using any
header file.

: Whlch among the following cannot be used for the concept of polymoxphlsm"



A. Static member function
b. Constructor Overloading
¢. Member function overloading
d. Global member function
8. Which member function is assumed to call first when there is a case of using function
overloading or abstract class?
a. Global function
b. Local function
c. Function with lowest priority
& Function with the highest priority
9. Which among the following is not a member of the class?
a. Virtual function
b. const function
c. Static function
\A Friend function
10. Which member of the superclass is never accessible to the subclass?
a. Public member
b. Protected member
_¢/” Private member
d. All of the mentioned

m MULTIPLE CHOICE QUESTION — JAVA PROGRAMS

1. Who invented Java Programming?
a. Guido van Rossum
b James Gosling
¢. Dennis Ritchie
d. Bjarne Stroustrup

2. Which statement is true about Java?
a. Java is a sequence-dependent programming language
b. Java is a code dependent programming language
c. Java is a platform-dependent programming language
. Java is a platform-independent programming language

3. Which component is used to compile, debug and execute the java programs"’

a. JRE
b. JIT
DK
.d. JVM

4. Which of these cannot be used for a variable name in Java?
a. identifier & keyword
b. identifier

s keyword el

d. none of the mentioned
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System.out.print(x + " " +y);

¥

System.out.println(x + " " + y);
¥

3

a. Compilation error
< Runtime error

c. 3656

d 5635

9. What will be the output of the following Java program?
class leftshift_operator
{
public static void main(String args{])
{
byte x = 64;
int i;
byte y;
1=x<<2;
y = (byte) (x << 2);
System.out.print(i +" " +y);

}

}
a. 0256
b. 064
< 2560
d. 640

10. What is the extension of compiled java classes?

3. .Ixt
b. Js

\e./ .class

d. .java
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5. What will be the output of the following Java code?

class increment
£

<

public static void main(String args{])

{
int g = 3;
System.out.print(++g * 8);
¥
b
3

b 33

c. 24

g 29

6. What will be the output of the following Java program?
class output {
public static void main(String args[])
{
double a, b,c;
a=3.0/0;
b=0/4.0;
¢=0/0.0;
System.out.printin{a);
System.out.println(b);
System.out.printin(c);

NaN :

Infinity

0.0

\d./ all of the mentioned

_C‘:Q‘.mh—/‘-v-’

7. What is not the use of “this” keyword in Java?

a. Referring to the instance variable when a local variable has the same naiiie

_bPassing itself to the method of the same class
<. Passing itself to another method
d. Calling another constructor in constructor chaining

8. What will be the output of the following Java program?
class variable_scope {
public static void main(String args[])
{
int x;
x=35;
{

inty=6;

e
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D MULTIPLE CHOICE QUESTION — OOP CONCEPTS

1. Which of the following is not an OOPS concept?
a. Encapsulation
b. lymorphism
~ Exception
d. Abstraction
2. Which feature of OOPS described the reusability of code?
1. Abstraction
2. Encapsulation
3. Polymorphism
. Inheritance
3. Which among the following feature is not in the general definition of OOPS?
a. Modularity
b. Efficient Code
c. Code reusability
\,d./ Duplicate or Redundant Data
4. Which feature of OOPS derives the class from another class?
a. Inheritance
b. Data hiding
c. Encapsulation
- Polymorphism
5. Which operator from the following can be used to illustrate the feature of
polymorphism?
a. Overloading <<
b. Overloading &&
_9¢ Overloading | |
d. dOverloading +=
6. Which header file is required by the C++ programming language to use the OOPS
concept?
a. stdio.h
b. iostream.h
c. stdlib.h
g/ We can easily use the OOPS concepts iii c++ programs without using any
header file. :
7. Which among the following cannot be used for the concept of polymorphism?



v:«A./ Static member function
b. Constructor Overloading
c. Member function overloading
d. Global member function
8. Which member function is assumed to call first when there is a case of using function
overloading or abstract class?
a. Global function
b. Local function
c. Function with lowest priority
A Function with the highest priority
9. Which among the following is not a member of the class?
a. Virtual function
b. const function
c. Static function
?,d./ Friend function
10. Which member of the superclass is never accessible to the subclass?
a. Public member
b. Protected member
& Private member
d. All of the mentioned

m MULTIPLE CHOICE QUESTION — JAVA PROGRAMS

1. Who invented Java Programming?
a. Guido van Rossum
_b. James Gosling
¢. Dennis Ritchie
d. Bjarne Stroustrup

2. Which statement is true about Java?
a. Java is a sequence-dependent programming language
b. Javais a code dependent programming language
c. Javais a platform-dependent prdgramming language
« Java is a platform-independent programming language

3. Which component is used to compile, debug and execute the java programs?
a. JRE
b. JIT
}/ JDK

d JVM

4. Which of these cannot be used for a variable name in Java?
a. identifier & keyword
b. identifier —

o~ keyword
. d. none of the mentioned Dr. LEENA AV
PRINCIPAL
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5. What will be the output of the following Java code?

class increment

{

public static void main(String args[])

{

intg=3;
System.out.print(++g * 8);
¥

b

33

)
N

f'/ 32
b.
c.
d 25

6. What will be the output of the following Java program?
class output {
public static void main(String args[])
{
double a, b,c;
a=3.0/0;
b=0/4.0;
¢=0/0.0;
System.out.printin{a);
System.out.println(b);
System.out.println(c);

}

}

a. NaN
b. Infinity

6. 00

_& all of the mentioned

7. What is not the use of “this” keyword in Java?

a. Referring to the instance variable when a local variable has the same name

_bPassing itself to the method of the same class
c. Passing itself to another method
d. Calling another constructor in constructor chaining

8. What will be the output of the following Java program?
class variable_scope {
public static void main(String args{])
{
int x;
E=9
{
inty=6;

Dr. LEENAAYV
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System.out.print(x + " " + y);

§

System.out.println(x + " " + y);
¥

3

~a. Compilation error
j/Rmtime error

c. 5656

&-56>

9. What will be the output of the following Java program?
class leftshift_operator
{
public static void main(String args{])
4
byte x = 64,
int i;
byte y;
I=x<<2;
y = (byte) (x <<2);
System.out.print(i+ " " +y);

}

}s
a. 0256
b. 064
. 2560
d. 640

10. What is the extension of compiled java classes?

a. Ixt
b. js
& .class

d. .java

Dr. LEENAAYV
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SREE NARAYANA GURU COLLEGE OF ENGINEERING & TECHNOLOGY
DEPART MENT OF COMPUTER SCIENCE AND ENGINEERING
CST 205 OBJECT ORIENTED PROGRAMMING USING JAVA
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)  MULTIPLE CHOICE QUESTION — OOP CONCEPTS

R

—

1. Which of the following is not an OOPS concept?
a. Encapsulation
b. Polymorphism
€. Exception
d. Abstraction
2. Which feature of OOPS described the reusability of code?
1. Abstraction
2. Encapsulation
3. Polymorphism
- /4/ Inheritance
3. Which among the following feature is not in the general definition of OOPS?
a. Modularity
b. Efficient Code
c. Code reusability
- Duplicate or Redundant Data
4. Which feature of OOPS derives the class from another class?
V&/ Inheritance
b. Data hiding
c. Encapsulation
d. Polymorphism
5. Which operator from the following can be used to illustrate the feature of
polymorphism?
. Overloading <<
b. Overloading &&
¢. Overloading | |
d. dOverloading +=
6. Which header file is required by the C++ programming language to use the OOPS
concept?
a. stdio.h
b. iostream.h
c. stdlib.h
. We can easily use the OOPS concep’t,s/ln ct++ programs without using any
header file.
7. Which among the following cannot be used for the concept of polymorphism?



ﬁtatic member function

b. Constructor Overloading
¢. Member function overloading
d. Global member function

8. Which member function is assumed to call first when there is a case of using function

overloading or abstract class?

a. Global function

b. Local function

c. Function with lowest priority

_d_ Function with the highest priority
9. Which among the following is not a member of the class?

a. Virtual function

b. const function

c. Static function
_ Friend function

10. Which member of the superclass is never accessible to the subclass?

a. Public member

b. Protected member
/ Private member

d. All of the mentioned

m MULTIPLE CHOICE QUESTION - JAVA PROGRAMS

1. Who invented Java Programming?
a. ido van Rossum
vk./?:z-‘nes Gosling
¢. Dennis Ritchie
d. Bjarne Stroustrup

2. Which statement is true about Java?
a. Java is a sequence-dependent programming language
b. Java is a code dependent programming language
c. Javais a platform-dependent programming language
< Java is a platform-independent programming language

3. Which component is used to compile, debug and execute the java programs?

a. JRE
b. JIT
A IDK
d. JVM

4. Which of these cannot be used for a variable name in Java?
a. identifier & keyword
b. identifier
\/c/{(eyword
d. none of the mentioned

Dr. LEEN‘I:\A{\ \
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5. What will be the output of the following Java code?

class increment
£

i

public static void main(String args{])

{
intg=3;
System.out.print(++g * 8);
}
b
32
e 33
c. 24
4 25

6. What will be the output of the following Java program?
class output {
public static void main(String args[])
2
double a, b,c;
a=3.0/0;
b=0/4.0;
¢=0/0.0;
System.out.printin{a);
System.out.println(b);
System.out.println(c);

NaN
Infinity
0.0

\}/ all of the mentioned

7. What is not the use of “this” keyword in Java?

a. Referring to the instance variable when a local variable has the same naiie

. Passing itself to the method of the same class
c. Passing itself to another method
d. Calling another constructor in constructor chaining

8. What will be the output of the following Java program?
class variable_scope {
public static void main(String args[])
{
int x;
x =5;
{
o ALY T 6%;
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System.out.print(x + " " +y);

}

System.out.println(x + " " + y):
)

b

. Compilation error
b. Runtime error
c. 5656
d- 365

9. What will be the output of the following Java program?
class leftshift_operator
{
public static void main(String args{|)
{
byte x = 64,
int i;
byte y;
1=xX<<2;
y = (byte) (x <<2);
System.out.print(i + " " + y);

}

}
a. 0256
b. 064
2’ 2560
d. 640

10. What is the extension of compiled java classes?

8. 2%t
b i

. .class
d. .java
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D MULTIPLE CHOICE QUESTION — OOP CONCEPTS

1. Which of the following is not an OOPS concept?
a. Encapsulation
b. Polymorphism
/ Exception
d. Abstraction
2. Which feature of OOPS described the reusability of code?
1. Abstraction
2. Encapsulation
3. Polymorphism
. Inheritance
3. Which among the following feature is not in the general definition of OOPS?
a. Modularity
b. Efficient Code
¢. Code reusability
. Duplicate or Redundant Data
4. Which feature of OOPS derives the class from another class?
¢ Inheritance
b. Data hiding
c. Encapsulation
d. Polymorphism
5. Which operator from the following can be used to illustrate the feature of
polymorphism?
. Overloading <<
b. Overloading &&
c. Overloading | |
d. dOverloading +=
6. Which header file is required by the C++ programming language to use the OOPS

concept?
a. stdio.h ! \}/
b. iostream.h ;
¢. stdlib.h
. We can easily use the OOPS concepts in c¥+ programs without using any
header file. O
7. Which among the following cannot be used for the concept of ;pol'ymorphism‘?



10.

m

. Static member function
b. Constructor Overloading
¢. Member function overloading
d. Global member function
Which member function is assumed to call first when there is a case of using function
overloading or abstract class?
a. Global function
b. Local function
. Function with lowest priority
d. Function with the highest priority
Which among the following is not a member of the class?
a. Virtual function
b. const function
c. Static function
vd./lzriend function
Which member of the superclass is never accessible to the subclass?
a. Public member
. Protected member

¢. Private member
d. All of the mentioned

&

MULTIPLE CHOICE QUESTION - JAVA PROGRAMS

1. Who invented Java Programming?
a. Guido van Rossum
. James Gosling
¢. Dennis Ritchie
d. Bjarne Stroustrup

2. Which statement is true about Java?

a. Java is a sequence-dependent programming language

b. Java is a code dependent programming language

c. Aava is a platform-dependent programming language
\/d/T ava is a platform-independent programming language

3. Which component is used to compile, debug and execute the java programs?

a JRE
b. JIT

7 = DK
d JVM

4. Which of these cannot be used for a variable name in Java?
a. identifier & keyword

b. identifier .
“keyword
d. none of the mentioned
Dr. LEENI‘?\AC Vv
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5. What will be the output of the following Java code?

class increment

{

public static void main(String args[}])
{

mg—3

System.out.print(++g * 8);

¥

}
a 3

b, 33
]

6. What will be the output of the following Java program?
class output {
public static void main(String args[])
{
double a, b,c;
a=3.0/0,
b=0/4.0;
¢=0/0.0;
System.out.printin(a);
System.out.println(b);
System.out.printin(c);
}
}

\;./NG.N
7 Infinity

L 6. 80
d. all of the mentioned

7. What is not the use of “this” keyword in Java?

a. Referring to the instance variable when a local variable has the same naiie

1. Passing itself to the method of the same class
c. Passing itself to another method
d. Calling another constructor in constructor chaining

8. What will be the output of the following Java program?
class variable_scope {
public static void main(String args[])
{
int X;
X =5;
‘inty==6;

"

Dri:kEE NAAV
INCIPAL
SREE NARAYANA GURU COLLEGE OF
ENGINEERING & TECHNOLOGY
PAYYANUR, KANNUR



System.out.print(x + " " + y);
¥
System.out.println(x + " " + y):
}
}
Compilation error
b. Runtime error
c. 5656

d 565

9. What will be the output of the following Java program?
class leftshift_operator
{
public static void main(String args{|)
{
byte x = 64;
int i;
byte y;
I=x<<2;
y = (byte) (x <<2);
System.out.print(i + " " + y);

}
}
a. 0256
b. 064
/2560
d. 640

10. What is the extension of compiled java classes?

3. .Ixt
b

. .class
d. .java
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D MULTIPLE CHOICE QUESTION — OOP CONCEPTS

1. Which of the following is not an OOPS concept?
a. Encapsulation
b. Polymorphism
c. Exception "~
d. Abstraction
2. Which feature of OOPS described the reusability of code?
1. Abstraction
2. Encapsulation
3. Polymorphism
4. Inheritance.
3. Which among the following feature is not in the general definition of OOPS?
a. Modularity
b. Efficient Code
¢. Code reusability
d. Duplicate or Redundant Data ./
4. Which feature of OOPS derives the class from another class?
a. Inheritance
b. Data hiding
c. Encapsulation
d. Polymorphism
5. Which operator from the following can be used to illustrate the feature of
polymorphism?
a. Overloading <<~
b. Overloading &&
¢. Overloading | |
d. dOverloading +=
6. Which header file is required by the C++ programming language to use the OOPS
concept?
a. stdio.h
b. iostream.h
c. stdlib.h /
d. We can easily use the OOPS concepts i Agrams without using any
header ﬁlc.\/ 7

_ 7. “Which among the following cannot be used for thé concept of pOIYxnorphism?




10.

)

Static member function , :
Constructor Overloading
Member function overloading

d. Global member function
Which member function is assumed to call first when there is a case of using function
overloading or abstract class?

a. Global function

b. Local function

¢. Function with lowest priority

d. Function with the highest priority
Which among the following is not a member of the class?

Jt./ Virtual function ~

b. const function

c. Static function

d. Friend function
Which member of the superclass is never accessible to the subclass?

a. Public member

b. Protected member

c. Private member

d. All of the mentioned

& pap

MULTIPLE CHOICE QUESTION - JAVA PROGRAMS

1. Who invented Java Programming?
a. Guido van Rossum
b. James Gosling ./
¢. Dennis Ritchie
d. Bjarne Stroustrup

2. Which statement is true about Java?
a. Java is a sequence-dependent programming language
b. Java is a code dependent programming language
c. Javais a platform-dependent programming language
d. Java is a platform-independent programming language

3. Which component is used to compile, debug and execute the java programs?
a. JRE
b 0T
e DK

d JVM /

4. Which of these cannot be used for a variable name in Java?
a. identifier & keyword _—
b. identifier

¢. keywor D
. r.LEENAAYV
d. none of the mentioned PRINCIPAL
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5. What will be the output of the following Java code?

class increment

¢

public static void muain(String args{])
{

int g = 3;

System.out.print(++g * 8);

}

}
32
33
24
25

an ow

6. What will be the output of the following Java program?
class output {
public static void main(String args[])
{
double a, b,c;
a=3.0/0;
b=0/4.0;
¢=0/0.0;
Systemn.out.printin{a);
System.out.println(b);
System.out.println(c);

a. NaN-

b. Infinity

. DB

d. all of the mentione\cy

7. What is not the use of “this” keyword in Java?
a. Referring to the instance variable when a local variable has the same naiiie
b. Passing itself to the method of the same class
<. Passing itself to another method
d. Calling another constructor in constructor chaining

8. What will be the output of the followmg Java program?
class variable_scope {
public static void main(String args{])

{

int x;
x = 5;
E
1
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System.out.print(x + " " +y);

}

System.out.println(x + " " + y);

H
b

10.

Compilation error
Runtime error
5656

565

=~ B

What will be the output of the following Java program?
class leftshift_operator
¢
public static void main(String args{])
{
byte x = 64;
int 1;
byte y;
i=x<<2;
y = (byte) (x <<2);
System.out.print(i + " " +y);
}
¥

0. O o.M
N
W
(=)}
e

What is the extension of compiled java classes?

Jxt
Js
class

Java

e oo
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I MULTIPLE CHOICE QUESTION — OOP CONCEPTS

1. Which of the following is not an OOPS concept?
a. Encapsulation
b. Polymorphism
£ Exception
d. Abstraction
2. Which feature of OOPS described the reusability of code?
1. Abstraction
2. Encapsulation
3. Polymorphism
‘4. Inheritance
3. Which among the following feature is not in the general definition of OOPS?
a. Modularity
b. Efficient Code
c. Code reusability
V.4 Duplicate or Redundant Data
4. Which feature of OOPS derives the class from another class?
& Inheritance
b. Data hiding
c. Encapsulation
d. Polymorphism
5. Which operator from the following can be used to illustrate the feature of
polymorphism?
a. Overloading <<
yb./ Overloading &&
¢. Overloading | |
d. dOverloading +=
6. Which header file is required by the C++ programming language to use the OOPS
concept?

a. stdio.h
b. iostream.h /
£ stdlib.h
d. We can easily use the OOPS concepts in c++ programs without using any

5 header file.
7. Which among the following cannot be used for the concept of polymorphism?



/ Static member function
b. Constructor Overloading
¢. Member function overloading
d. Global member function
8. Which member function is assumed to call first when there is a case of using function
overloading or abstract class?
a. Global function
b. Local function
c. Function with lowest priority
& Function with the highest priority
9. Which among the following is not a member of the class?
a. Virtual function
b. const function
c. Static function
" Friend function
10. Which member of the superclass is never accessible to the subclass?
a. Public member
b. Protected member
& Private member
d. All of the mentioned

m MULTIPLE CHOICE QUESTION — JAVA PROGRAMS

1. Who invented Java Programming?
a. Guido van Rossum
M James Gosling
¢. Dennis Ritchie
d. Bjarne Stroustrup

2. Which statement is true about Java?
a. Java is a sequence-dependent programming language
b. Java is a code dependent programming language
c. Javais a platform-dependent programming language
d Javaisa platform-independent programming language

3. Which component is used to compile, debug and execute the java programs?

a. JRE
b. JIT

. DK
d JVM

4. Which of these cannot be used for a variable name in Java?
a. identifier & keyword
b. identifier
NA keyword

d. none of the mentioned bRINCIPAL



5. What will be the output of the following Java code?

class increment

i
;
public static void main(String args{])
{
int g =3;
System.out.print(++g * 8);
}
i

3 2

h S

K 24
d 2%

6. What will be the output of the following Java program?
class output {
public static void main(String args[])
{
double a, b,c;
a=3.0/0;
b=0/4.0;
=0/0.0;
Systerni.out.printin(a);
System.out.printin(b);
System.out.printin(c);

}

}

v NaN

b. Infinity

c. 0.0

d. all of the mentioned

7. What is not the use of “this” keyword in Java?
a. Referring to the instance variable when a local variable has the same naiiie
- Passing itself to the method of the same class
<. Passing itself to another method
d. Calling another constructor in constructor chaining

8. What will be the output of the following Java program?
class variable_scope {
public static void main(String args{})

{ g e

int x; st
x=5 =

{
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System.out.print(x + " " + y);
}
System.out.println(x + " " + y);
}
}

4. Compilation error
b. Runtime error
e 3656
d 565

9. What will be the output of the following Java program?
class leftshift_operator
{ .
public static void main(String args{])
{
byte x = 64,
int i;
byte y;
i=x <<
y = (byte) (x << 2);
System.out.print(i + " " + y);

}

}
a4 0256
b. 064
c. 2560
d. 640

10. What is the extension of compiled java classes?

a. Axt
b s
K. .class

d. .java

Dr. LEEbe:«Aﬁ \
PRIN of
ARAYANA GURU COLLEGE
sREE&:INEERING & TECHNOLOGY
PAYYANUR, KANNUR



SREE NARAYANA GURU COLLEGE OF ENGINEERING & TECHNOLOGY
DEPART MENT OF COMPUTER SCIENCE AND ENGINEERING
CST 205 OBJECT ORIENTED PROGRAMMING USING JAVA
S3 CSE 2022-23 (BATCH 2021-25)

REMEDIAL CLASS TEST QUESTION PAPER l (fo
2,0
Date: . 2% 22 W
Name:. fohorvrtd Zabnom Register Number: .. SMC2'CS031

D MULTIPLE CHOICE QUESTION — OOP CONCEPTS

1. Which of the following is not an OOPS concept?
a. Encapsulation
b. Polymorphism
2. Exception
d. Abstraction
2. Which feature of OOPS described the reusability of code?
1. Abstraction
2. Encapsulation
3. Polymorphism
A. Inheritance
3. Which among the following feature is not in the general definition of OOPS?
a. Modularity
&, Efficient Code
c¢. Code reusability
d. Duplicate or Redundant Data
4. Which feature of OOPS derives the class from another class?
A. Inheritance
b. Data hiding
¢. Encapsulation
d. Polymorphism
5. Which operator from the following can be used to illustrate the feature of
polymorphism?
J& Overloading <<
b. Overloading &&
¢. Overloading | |
d. dOverloading +=
6. Which header file is required by the C++ programming language to use the OOPS

concept?
va. stdio.h ¥
b. iostream.h /

c. stdlib.h
d. We can easily use the OOPS concepts in ct++ programs without using any
header file. :

7. ¥ Which among the following cannot be used for the concept of polymorphism?



10.

Y

A Static member function >
b. Constructor Overloading _‘_J“'/
¢. Member function overloading
d. Global member function

Which member function is assumed to call first when there is a case of using function
overloading or abstract class?
a. Global function
b. Local function
c. Function with lowest priority
~d_ Function with the highest priority
Which among the following is not a member of the class?
a. Virtual function
b. const function
c. Static function
4. Friend function
Which member of the superclass is never accessible to the subclass?
a. Public member
b. Protected member
& Private member
d. All of the mentioned

MULTTIPLE CHOICE QUESTION - JAVA PROGRAMS

1. Who invented Java Programming?
a. Guido van Rossum
J.  James Gosling
¢. Dennis Ritchie
d. Bjarne Stroustrup

2. Which statement is true about Java?
a. Java is a sequence-dependent programming language
b. Javais a code dependent programming language
c. Javais a platform-dependent programming language
vd. Java is a platform-independent programming language

3. Which component is used to compile, debug and execute the java programs?
g -~ JIRE
b JII
K B
d JVM

4. Which of these cannot be used for a variable name in Java?
a. identifier & keyword e
b. identifier o~
&£ keyword
d. none of the mentioned Dr. LEENAA \'}



5. What will be the output of the following Java code?

class increment

{

public static void main(String args{])
{

int g=3;

System.out.print(++g * 8);

}

}
a 3

53
c. 24
425

6. What will be the output of the following Java program?
class output {
public static void main(String args[])
{
double a, b,c;
a=3.0/0;
b=10/4.0;
¢=0/0.0;
System.out.printin(a);
System.out.printin(b);
System.out.println(c);
¥

}
a. NaN

b. Infinity
¢c. 00
~d_ all of the mentioned

7. What is not the use of “this” keyword in Java?
a. Referring to the instance variable when a local variable has the same naiiie
A Passing itself to the method of the same class
c. Passing itself to another method
d. Calling another constructor in constructor chaining

- 8. What will be the output of the following Java program?
class variable_scope {
public static void main(String args[])

{

int x;

X =0 -

{
or LN ¥
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System.out.print(x +" " +y);

3

System.out.printin(x + " " + y);
§

}
\,a./ Compilation error

b. Runtime error
& 5656
d: 565

9. What will be the output of the following Java program?
class leftshift_operator
{
public static void main(String args{|)
{
byte x = 64,
int i;
byte y;
1=X<<2;
y = (byte) (x << 2);
System.out.print(i + " " + y);

}

}
a. 0256
b. 064
& 2560
d. 640

10. What is the extension of compiled java classes?

2, txt
b. Js
A .class

d. java
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I) MULTIPLE CHOICE QUESTION — OOP CONCEPTS

1. Which of the following is not an OOPS concept?
a. Encapsulation
b. Polymorphism
c. Exception \/
d. Abstraction
2. Which feature of OOPS described the reusability of code?
1. Abstraction
2. Encapsulation
3. Polymorphism
4. Inheritance
3. Which among the following feature is not in the general definition of OOPS?
a. Modularity
b. Efficient Code
c. Code reusability
d. Duplicate or Redundant Data
4. Which feature of OOPS derives the class from another class?
a. Inheritance .~
b. Data hiding
c. Encapsulation
d. Polymorphism
5. Which operator from the following can be used to illustrate the feature of
polymorphism?
a. Overloading << v
b. Overloading &&
¢. Overloading | |
d. dOverloading +=
6. Which header file is required by the C++ programming language to use the OOPS
concept?
a. stdio.h
b. iostream.h
c. stdlib.h
d. We can easily use the OOPS concepts in ¢ rograms without using any
header file, s ‘
7. Which among the following cannot be used for the concept of polymorphism?



Static member function ‘/
Constructor Overloading
Member function overloading
d. Global member function
8. Which member function is assumed to call first when there is a case of using function
overloading or abstract class?
a. Global function
b. Local function
c. Function with lowest priority
d. Function with the highest priority
9. Which among the following is not a member of the class?
a. Virtual function
b. const function
c. Static function
d. Friend function
10. Which member of the superclass is never accessible to the subclass?
a. Public member
b. Protected member
¢. Private member
d. All of the mentioned

R e

m MULTIPLE CHOICE QUESTION - JAVA PROGRAMS

1. Who invented Java Programming?
a. Guido van Rossum
b. James Gosling \/
¢. Dennis Ritchie
d. Bjarne Stroustrup

2. Which statement is true about Java?
a. Java is a sequence-dependent programming language
b. Java is a code dependent programming language /
c. Java is a platform-dependent programming language
d. Java is a platform-independent programming language

3. Which component is used to compile, debug and execute the java programs?

a. - IRE

b. JIT

¢c. DK
d JVM

4. Which of these cannot be used for a variable name in Java?
a. identifier & keyword
b. identifier

c. keyword pr. LEENAA v

d. none of the mentioned



5. What will be the output of the following Java code?

class increment
T

4

public static void main(String args[])
{

intg=23;

System.out.print(++g * 8);

}

}
3

33
24
25

& e o e

6. What will be the output of the following Java program?
class output {
public static void main(String args[])
{
double a, b,c;
a=3.0/0;
b=0/4.0;
¢=0/0.0;
System.out.printin(a};
System.out.println(b);
System.out.printin(c);

}

}

a. NaN
b. Infinity
c. 00

d. all of the mentioned /

7. What is not the use of “this” keyword in Java?
a. Referring to the instance variable when a local variable has the same naine
b. Passing itself to the method of the same class
<. Passing itself to another method
d. Calling another constructor in constructor chaining

8. What will be the output of the following Java program?
class variable scope {
public static void main(String args[])

{

int X;

X =5;

inty=6;
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System.out.print(x + " " +y);

}

System.out.printin(x + " " +y);

}
}

10.

R

Compilation error v
Runtime error

5656

565

S S~ B

What will be the output of the following Java program?
class leftshift_operator

{

public static void main(String args{])
{

byte x = 64,

int i;

byte y;

Gl B

y = (byte) (x << 2);
System.out.print(i + " " + y);

}

b
0256

0 64
2560 v
640 .

po o

What is the extension of compiled java classes?

Axt
Js

.class i

Jjava
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